BID TABS PROJECT 23-1029 22nd AVENUE RECONSTRUCTION

BID DATE: FEBRUARY 1, 2023

					s & Son, Inc. ne, WI	LaLonde Contractors, Inc. Waukesha, WI			ompany, Inc. sha, WI
Item Number	Roadway Items	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
204.0100	Removing Concrete Pavement	15300	SY	\$12.85	\$196,605.00	\$12.25	\$187,425.00	\$5.76	\$88,128.00
204.0130	Removing Curb	47	LF	\$15.00	\$705.00	\$15.56	\$731.32	\$20.00	\$940.00
204.0150	Removing Curb & Gutter	13	LF	\$15.00	\$195.00	\$21.97	\$285.61	\$20.00	\$260.00
204.0155	Removing Concrete Sidewalk	660	SY	\$8.00	\$5,280.00	\$7.96	\$5,253.60	\$6.50	\$4,290.00
204.0195	Removing Concrete Bases	5	EA	\$250.00	\$1,250.00	\$236.31	\$1,181.55	\$300.00	\$1,500.00
204.9060.S	Removing Street Light Poles	20	EA	\$1,750.00	\$35,000.00	\$1,632.05	\$32,641.00	\$1,632.05	\$32,641.00
205.0100	Excavation Common	7280	CY	\$16.60	\$120,848.00	\$23.55	\$171,444.00	\$23.24	\$169,187.20
211.0101	Prepare Foundation for Asphaltic Paving	1	EA	\$3,500.00	\$3,500.00	\$4,380.00	\$4,380.00	\$1.00	\$1.00
213.0100	Finishing Roadway	1	EA	\$1,500.00	\$1,500.00	\$3,354.00	\$3,354.00	\$3,000.00	\$3,000.00
305.0120	Base Aggregate Dense 1 1/4-Inch	6260	TON	\$0.01	\$62.60	\$22.72	\$142,227.20	\$23.75	\$148,675.00
311.0110	Breaker Run	4430	TON	\$0.01	\$44.30	\$0.01	\$44.30	\$28.90	\$128,027.00
325.0100	Pulverize and Relay	3250	SY	\$4.50	\$14,625.00	\$5.70	\$18,525.00	\$5.70	\$18,525.00
415.0080	Concrete Pavement 8-Inch	11280	SY	\$54.00	\$609,120.00	\$48.43	\$546,290.40	\$52.12	\$587,913.60
415.0210	Concrete Pavement Gaps	6	EA	\$0.01	\$0.06	\$1,172.00	\$7,032.00	\$1,000.00	\$6,000.00
415.1080	Concrete Pavement HES 8-Inch	190	SY	\$58.00	\$11,020.00	\$71.60	\$13,604.00	\$88.04	\$16,727.60
415.4100	Concrete Pavement Joint Filling	12410	SY	\$1.70	\$21,097.00	\$1.51	\$18,739.10	\$1.25	\$15,512.50
416.0160	Concrete Driveway 6-Inch	40	SY	\$58.00	\$2,320.00	\$58.80	\$2,352.00	\$81.65	\$3,266.00
416.0180	Concrete Driveway 8-Inch	540	SY	\$63.00	\$34,020.00	\$68.66	\$37,076.40	\$76.65	\$41,391.00
416.0280	Concrete Driveway HES 8-Inch	100	SY	\$65.00	\$6,500.00	\$71.28	\$7,128.00	\$86.65	\$8,665.00
416.0610	Drilled Tie Bars	8	EA	\$10.00	\$80.00	\$11.43	\$91.44	\$20.00	\$160.00
416.0620	Drilled Dowel Bars	116	EA	\$15.00	\$1,740.00	\$17.37	\$2,014.92	\$20.00	\$2,320.00
455.0605	Tack Coat	370	GAL	\$2.50	\$925.00	\$2.26	\$836.20	\$2.26	\$836.20
460.6223	HMA Pavement 3 MT 58-28 S	870	TON	\$92.00	\$80,040.00	\$88.67	\$77,142.90	\$88.87	\$77,316.90
460.6224	HMA Pavement 4 MT 58-28 S	580	TON	\$115.00	\$66,700.00	\$108.84	\$63,127.20	\$108.84	\$63,127.20
465.0120	Asphaltic Surface Driveways and Field Entrances	23	TON	\$285.00	\$6,555.00	\$263.11	\$6,051.53	\$263.11	\$6,051.53
465.0125	Asphaltic Surface Temporary	13	TON	\$300.00	\$3,900.00	\$269.86	\$3,508.18	\$269.86	\$3,508.18
601.0105	Concrete Curb Type A	200	LF	\$33.00	\$6,600.00	\$37.80	\$7,560.00	\$36.05	\$7,210.00
601.0409	Concrete Curb & Gutter 30-Inch Type A	4210	LF	\$21.00	\$88,410.00	\$22.94	\$96,577.40	\$36.05	\$151,770.50
601.0411	Concrete Curb & Gutter 30-Inch Type D	330	LF	\$21.00	\$6,930.00	\$37.06	\$12,229.80	\$36.05	\$11,896.50
601.0600	Concrete Curb Pedestrian	39	LF	\$24.00	\$936.00	\$38.46	\$1,499.94	\$36.05	\$1,405.95
602.0405	Concrete Sidewalk 4-Inch	5420	SF	\$6.40	\$34,688.00	\$6.02	\$32,628.40	\$11.15	\$60,433.00
602.0415	Concrete Sidewalk 6-Inch	960	SF	\$7.00	\$6,720.00	\$7.84	\$7,526.40	\$11.01	\$10,569.60
602.0515	Curb Ramp Detectable Warning Field Natural Patina	140	SF	\$50.00	\$7,000.00	\$34.04	\$4,765.60	\$50.00	\$7,000.00
619.1000	Mobilization	1	EA	\$160,000.00	. ,		\$44,127.43	\$47,350.00	\$47,350.00
623.0200	Dust Control Surface Treatment	16800	SY	\$0.01	\$168.00	\$0.01	\$168.00	\$0.01	\$168.00
625.0100	Topsoil	6750	SY	\$5.00	\$33,750.00	\$4.60	\$31,050.00	\$4.60	\$31,050.00
627.0200	Mulching	1550	SY	\$0.50	\$775.00	\$0.50	\$775.00	\$0.50	\$775.00
628.1504	Silt Fence	690	LF	\$2.00	\$1,380.00	\$2.00	\$1,380.00	\$2.00	\$1,380.00
628.1520	Silt Fence Maintenance	690	LF	\$0.01	\$6.90	\$0.01	\$6.90	\$0.01	\$6.90
625.1905	Mobilizations Erosion Control	4	EA	\$25.00	\$100.00	\$25.00	\$100.00	\$25.00	\$100.00
628.1910	Mobilizations Emergency Erosion Control	4	EA	\$1.00	\$4.00	\$1.00	\$4.00	\$1.00	\$4.00
628.2006	Erosion Mat Urban Class I Type A	1550	SY	\$2.00	\$3,100.00	\$1.87	\$2,898.50	\$1.87	\$2,898.50
628.7005	Inlet Protection Type A	19	EA	\$30.00	\$570.00	\$30.00	\$570.00	\$30.00	\$570.00
628.7010	Inlet Protection Type B	17	EA	\$30.00	\$510.00	\$30.00	\$510.00	\$30.00	\$510.00

	A.W. Oakes & Son, In Racine, WI		,	LaLonde Contractors, Inc. Waukesha, WI			mpany, Inc. sha, WI		
Item Number	Roadway Items	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
628.7015	Inlet Protection Type C	18	EA	\$30.00	\$540.00	\$30.00	\$540.00	\$30.00	\$540.00
628.7020	Inlet Protection Type D	17	EA	\$50.00	\$850.00	\$50.00	\$850.00	\$50.00	\$850.00
628.7504	Temporary Ditch Checks	40	LF	\$6.00	\$240.00	\$6.00	\$240.00	\$6.00	\$240.00
628.7560	Tracking Pads	2	EA	\$0.01	\$0.02	\$1,400.00	\$2,800.00	\$1,000.00	\$2,000.00
629.0210	Fertilizer Type B	4	CWT	\$70.00	\$280.00	\$70.00	\$280.00	\$70.00	\$280.00
630.0130	Seeding Mixture No. 30	28	LB	\$10.00	\$280.00	\$9.00	\$252.00	\$9.00	\$252.00
630.0200	Seeding Temporary	180	LB	\$2.00	\$360.00	\$1.75	\$315.00	\$1.75	\$315.00
630.0500	Seed Water	35	MGAL	\$40.00	\$1,400.00	\$38.00	\$1,330.00	\$38.00	\$1,330.00
631.0300	Sod Water	120	MGAL	\$40.00	\$4,800.00	\$38.00	\$4,560.00	\$38.00	\$4,560.00
631.1000	Sod Lawn	5200	SY	\$6.00	\$31,200.00	\$5.25	\$27,300.00	\$5.25	\$27,300.00
637.2210	Signs Type II Reflective H	260.65	SF	\$25.00	\$6,516.25	\$22.00	\$5,734.30	\$22.00	\$5,734.30
637.2215	Signs Type II Reflective H Folding	20.72	SF	\$28.00	\$580.16	\$24.00	\$497.28	\$24.00	\$497.28
638.2102	Moving Signs Type II	4	EA	\$50.00	\$200.00	\$50.00	\$200.00	\$50.00	\$200.00
638.2602	Removing Signs Type II	51	EA	\$25.00	\$1,275.00	\$20.00	\$1,020.00	\$20.00	\$1,020.00
638.3000	Removing Small Sign Supports	13	EA	\$25.00	\$325.00	\$20.00	\$260.00	\$20.00	\$260.00
642.5001	Field Office Type B	1	EA	\$12,000.00	\$12,000.00	\$8,780.00	\$8,780.00	\$10,000.00	\$10,000.00
643.0300	Traffic Control Drums	27601	DAY	\$0.20	\$5,520.20	\$0.15	\$4,140.15	\$0.15	\$4,140.15
643.0410	Traffic Control Barricades Type II	1006	DAY	\$0.60	\$603.60	\$0.55	\$553.30	\$0.55	\$553.30
643.0420	Traffic Control Barricades Type III	9774	DAY	\$0.75	\$7,330.50	\$0.70	\$6,841.80	\$0.70	\$6,841.80
643.0500	Traffic Control Flexible Tubular Marker Posts	77	EA	\$30.00	\$2,310.00	\$30.00	\$2,310.00	\$30.00	\$2,310.00
643.0600	Traffic Control Flexible Tubular Marker Bases	77	EA	\$5.00	\$385.00	\$3.00	\$231.00	\$3.00	\$231.00
643.0705	Traffic Control Warning Lights Type A	20554	DAY	\$0.15	\$3,083.10	\$0.12	\$2,466.48	\$0.12	\$2,466.48
643.0715	Traffic Control Warning Lights Type C	6154	DAY	\$0.15	\$923.10	\$0.12	\$738.48	\$0.12	\$738.48
643.0900	Traffic Control Signs	23099	DAY	\$0.70	\$16,169.30	\$0.65	\$15,095.20	\$0.65	\$15,014.35
643.1050	Traffic Control Signs PCMS	7	DAY	\$50.00	\$350.00	\$35.00	\$245.00	\$35.00	\$245.00
643.3105	Temporary Marking Line Paint 4-Inch	2920	LF	\$0.60	\$1,752.00	\$0.55	\$1,606.00	\$0.55	\$1,606.00
643.3150	Temporary Marking Line Removable Tape 4-Inch	12820	LF	\$0.90	\$11,538.00	\$0.85	\$10,897.00	\$0.85	\$10,897.00
643.3850	Temporary Marking Stop Line Removable Tape 18-Inch	100	LF	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
643.5000	Traffic Control	1	EA	\$25,000.00	\$25,000.00	\$24,076.92	\$24,076.92	\$24,076.92	\$24,076.92
644.1440	Temporary Pedestrian Surface Matting	450	SF	\$0.01	\$4.50	\$13.92	\$6,264.00	\$10.00	\$4,500.00
644.1601	Temporary Pedestrian Curb Ramp	95	DAY	\$0.01	\$0.95	\$12.00	\$1,140.00	\$12.00	\$1,140.00
644.1605	Temporary Pedestrian Detectable Warning Field	30	SF	\$0.01	\$0.30	\$8.00	\$240.00	\$8.00	\$240.00
644.1810	Temporary Pedestrian Barricade	460	LF	\$0.01	\$4.60	\$6.50	\$2,990.00	\$6.50	\$2,990.00
645.0220	Geogrid Type SR	7600	SY	\$0.01	\$76.00	\$0.01	\$76.00	\$2.00	\$15,200.00
646.1020	Marking Line Epoxy 4-Inch	12770	LF	\$0.75	\$9,577.50	\$0.65	\$8,300.50	\$0.65	\$8,300.50
646.3020	Marking Line Epoxy 8-Inch	750	LF	\$1.50	\$1,125.00	\$1.10	\$825.00	\$1.10	\$825.00
646.5020	Marking Arrow Epoxy	12	EA	\$300.00	\$3,600.00	\$275.00	\$3,300.00	\$275.00	\$3,300.00
646.6120	Marking Stop Line Epoxy 18-Inch	210	LF	\$12.00	\$2,520.00	\$11.50	\$2,415.00	\$11.50	\$2,415.00
646.7120	Marking Diagonal Epoxy 12-Inch	140	LF	\$11.00	\$1,540.00	\$9.25	\$1,295.00	\$9.25	\$1,295.00
646.7420	Marking Crosswalk Epoxy Transverse Line 6-Inch	680	LF	\$8.00	\$5,440.00	\$7.55	\$5,134.00	\$7.55	\$5,134.00
646.7520	Marking Crosswalk Epoxy Block Style 24-Inch	350	LF	\$15.00	\$5,250.00	\$14.25	\$4,987.50	\$14.25	\$4,987.50
646.9000	Marking Removal Line 4-Inch	3270	LF	\$1.00	\$3,270.00	\$0.75	\$2,452.50	\$0.75	\$2,452.50
646.9100	Marking Removal Line 8-Inch	300	LF	\$2.00	\$600.00	\$2.50	\$750.00	\$2.50	\$750.00
646.9200	Marking Removal Line Wide	140	LF	\$5.00	\$700.00	\$5.00	\$700.00	\$5.00	\$700.00
646.9300	Marking Removal Special Marking	4	EA	\$100.00	\$400.00	\$200.00	\$800.00	\$200.00	\$800.00
650.4500	Construction Staking Subgrade	2360	LF	\$0.01	\$23.60	\$0.49	\$1,156.40	\$0.01	\$23.60
650.5500	Construction Staking Curb Gutter and Curb & Gutter	330	LF	\$2.00	\$660.00	\$1.65	\$544.50	\$3.00	\$990.00

					.W. Oakes & Son, Inc. Racine, WI		LaLonde Contractors, Inc. Waukesha, WI		ompany, Inc.
Item Number	Roadway Items	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
650.7000	Construction Staking Concrete Pavement	2110	LF	\$2.00	\$4,220.00	\$3.25	\$6,857.50	\$2.25	\$4,747.50
650.8000	Construction Staking Resurfacing Reference	710	LF	\$2.00	\$1,420.00	\$0.50	\$355.00	\$0.95	\$674.50
650.8501	Construction Staking Electrical Installations (23-1029)	1	EA	\$2,500.00	\$2,500.00	\$1,250.00	\$1,250.00	\$1,795.00	\$1,795.00
650.9000	Construction Staking Curb Ramps	14	EA	\$150.00	\$2,100.00	\$150.00	\$2,100.00	\$180.00	\$2,520.00
650.9500	Construction Staking Sidewalk (23-1029)	1	EA	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$1,185.00	\$1,185.00
650.9911	Construction Staking Supplemental Control (23-1029)	1	EA	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$1,425.00	\$1,425.00
650.9920	Construction Staking Slope Stakes	3070	LF	\$1.00	\$3,070.00	\$0.70	\$2,149.00	\$0.75	\$2,302.50
652.0225	Conduit Rigid Nonmetallic Scheduled 40 2-Inch	2153	LF	\$9.00	\$19,377.00	\$8.43	\$18,149.79	\$8.43	\$18,149.79
652.0235	Conduit Rigid Nonmetallic Scheduled 40 3-Inch	1230	LF	\$14.00	\$17,220.00	\$12.56	\$15,448.80	\$12.56	\$15,448.80
653.0140	Pull Boxes Steel 24x42-Inch	16	EA	\$1,300.00	\$20,800.00	\$1,215.28	\$19,444.48	\$1,215.28	\$19,444.48
653.0905	Removing Pull Boxes	2	EA	\$150.00	\$300.00	\$107.78	\$215.56	\$107.78	\$215.56
654.0101	Concrete Bases Type 1	6	EA	\$900.00	\$5,400.00	\$857.12	\$5,142.72	\$857.12	\$5,142.72
654.0102	Concrete Bases Type 2	1	EA	\$1,300.00	\$1,300.00	\$1,236.50	\$1,236.50	\$1,236.50	\$1,236.50
654.0105	Concrete Bases Type 5	18	EA	\$1,100.00	\$19,800.00	\$1,021.87	\$18,393.66	\$1,021.87	\$18,393.66
654.0120	Concrete Bases Type 10 – Special	4	EA	\$7,000.00	\$28,000.00	\$6,651.38	\$26,605.52	\$6,651.38	\$26,605.52
654.0217	Concrete Control Cabinet Bases Type 9 Special	1	EA	\$2,500.00	\$2,500.00	\$2,298.82	\$2,298.82	\$2,298.82	\$2,298.82
654.0230	Concrete Control Cabinet Bases Type L30	1	EA	\$2,100.00	\$2,100.00	\$1,774.40	\$1,774.40	\$1,774.40	\$1,774.40
655.0230	Cable Traffic Signal 5-14 AWG	851	LF	\$1.65	\$1,404.15	\$1.52	\$1,293.52	\$1.52	\$1,293.52
655.0240	Cable Traffic Signal 7-14 AWG	401	LF	\$2.20	\$882.20	\$2.03	\$814.03	\$2.03	\$814.03
655.0260	Cable Traffic Signal 12-14 AWG	1406	LF	\$3.50	\$4,921.00	\$3.30	\$4,639.80	\$3.30	\$4,639.80
655.0320	Cable Type UF 2-10 AWG Grounded	610	LF	\$2.40	\$1,464.00	\$2.21	\$1,348.10	\$2.21	\$1,348.10
655.0515	Electrical Wire Traffic Signals 10 AWG	1176	LF	\$1.20	\$1,411.20	\$1.05	\$1,234.80	\$1.05	\$1,234.80
655.0610	Electrical Wire Lighting 12 AWG	2922	LF	\$1.00	\$2,922.00	\$0.91	\$2,659.02	\$0.91	\$2,659.02
655.0615	Electrical Wire Lighting 10 AWG	11680	LF	\$1.20	\$14,016.00	\$1.05	\$12,264.00	\$1.05	\$12,264.00
655.0630	Electrical Wire Lighting 4 AWG	1130	LF	\$3.00	\$3,390.00	\$2.41	\$2,723.30	\$2.41	\$2,723.30
655.0635	Electrical Wire Lighting 2 AWG	30	LF	\$4.00	\$120.00	\$3.40	\$102.00	\$3.40	\$102.00
656.0201	Electrical Service Meter Breaker Pedestal (22nd Ave & 85th St)	1	EA	\$1,350.00	\$1,350.00	\$1,257.15	\$1,257.15	\$1,257.15	\$1,257.15
656.0201	Electrical Service Meter Breaker Pedestal (22nd Ave & 85th PI)	1	EA	\$1,350.00	\$1,350.00	\$1,257.15	\$1,257.15	\$1,257.00	\$1,257.00
656.0100	Pedestal Bases	6	EA	\$270.00	\$1,620.00	\$265.09	\$1,590.54	\$265.09	\$1,590.54
657.0255	Transformer Bases Breakaway 11 1/2-Inch Bolt Circle	19	EA	\$600.00	\$11,400.00	\$573.37	\$10,894.03	\$573.37	\$10,894.03
657.0310	Poles Type 3	1	EA	\$3,600.00	\$3,600.00	\$3,449.16	\$3,449.16	\$3,449.16	\$3,449.16
657.0322	Poles Type 5 – Aluminum	18	EA	\$2,100.00	\$37,800.00	\$1,886.33	\$33,953.94	\$1,886.33	\$33,953.94
657.0352	Poles Type 10 – Special	4	EA	\$15,000.00	\$60,000.00	\$13,916.28	\$55,665.12	\$13,916.28	\$55,665.12
657.0410	Traffic Signal Standards Aluminum 9-FT	2	EA	\$600.00	\$1,200.00	\$596.35	\$1,192.70	\$596.35	\$1,192.70
657.0420	Traffic Signal Standards Aluminum 13-FT	3	EA	\$900.00	\$2,700.00	\$846.73	\$2,540.19	\$846.73	\$2,540.19
657.0425	Traffic Signal Standards Aluminum 15-FT	1	EA	\$1,000.00	\$1,000.00	\$888.89	\$888.89	\$888.89	\$888.89
657.0536	Monotube Arms 35-Ft Special	1	EA	\$6,000.00	\$6,000.00	\$5,781.63	\$5,781.63	\$5,781.63	\$5,781.63
657.0541	Monotube Arms 40-Ft Special	3	EA	\$6,400.00	\$19,200.00	\$5,940.05	\$17,820.15	\$5,940.05	\$17,820.15
657.0614	Luminaire Arms Single Member 4-Inch Clamp 8-FT	1	EA	\$400.00	\$400.00	\$340.84	\$340.84	\$340.84	\$340.84
657.0615	Luminaire Arms Single Member 4 1/2-Inch Clamp 8-FT	18	EA	\$360.00	\$6,480.00	\$330.62	\$5,951.16	\$330.62	\$5,951.16
657.0808	Luminaire Arms Steel 8-FT	3	EA	\$1,000.00	\$3,000.00	\$888.92	\$2,666.76	\$888.92	\$2,666.76
658.0173	Traffic Signal Face 3S 12-Inch	18	EA	\$1,000.00	\$18,000.00	\$962.01	\$17,316.18	\$962.01	\$17,316.18
658.0174	Traffic Signal Face 4S 12-Inch	2	EA	\$1,300.00	\$2,600.00	\$1,216.79	\$2,433.58	\$1,216.79	\$2,433.58
658.0416	Traffic Signal Face 16-Inch	8	EA	\$600.00	\$4,800.00	\$541.02	\$4,328.16	\$541.02	\$4,328.16
658.0500	Pedestrian Push Buttons	8	EA	\$450.00	\$3,600.00	\$414.61	\$3,316.88	\$414.61	\$3,316.88
658.5070	Signal Mounting Hardware (22 nd Ave & 85 th St)	1	EA	\$5,000.00	\$5,000.00	\$4,573.95	\$4,573.95	\$4,573.95	\$4,573.95
659.2130	Lighting Control Cabinets 120/240 30-Inch	1	EA	\$9,500.00	\$9,500.00	\$8,636.42	\$8,636.42	\$8,636.42	\$8,636.42

				A.W. Oakes Racir		LaLonde Contractors, Inc. Waukesha, WI		Wauke	mpany, Inc. sha, WI
Item Number		Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
661.0201	Temporary Traffic Signals for Intersections (22nd Ave & 85th St)	1	EA	\$45,000.00	\$45,000.00	\$43,128.83	\$43,128.83	\$43,128.83	\$43,128.83
690.0250	Sawing Concrete	3910	LF	\$2.00	\$7,820.00	\$2.25	\$8,797.50	\$2.00	\$7,820.00
715.0720	Incentive Compressive Strength Concrete Pavement	3440	DOL	\$1.00	\$3,440.00	\$1.00	\$3,440.00	\$1.00	\$3,440.00
SPV.0035.01		2530	CY	\$0.01	\$25.30	\$0.01	\$25.30	\$37.90	\$95,887.00
SPV.0035.02	Excess Pulverized Material	180	CY	\$25.00	\$4,500.00	\$31.32	\$5,637.60	\$31.32	\$5,637.60
	Repair Broken Sprinkler Systems	5000	DOL	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
	2-3/8" OD, 16 GA Galvanized Poles, 12-FT	18	EA	\$130.00	\$2,340.00	\$112.00	\$2,016.00	\$112.00	\$2,016.00
	2-3/8" OD, 16 GA Galvanized Poles, 8-FT	3	EA	\$130.00	\$390.00	\$112.00	\$336.00	\$112.00	\$336.00
	30-Inch Round V-Loc	21	EA	\$100.00	\$2,100.00	\$89.90	\$1,887.90	\$89.90	\$1,887.90
	2-3/8" Z-Bracket, Single Sided, Round, Pair	33	EA	\$15.00	\$495.00	\$11.00	\$363.00	\$11.00	\$363.00
	Salvage and Reinstall City Owned Bus Route Signs	4	EA	\$50.00	\$200.00	\$30.00	\$120.00	\$30.00	\$120.00
SPV.0060.12	Luminaires Utility LED 96 Watts	22	EA	\$100.00	\$2,200.00	\$81.29	\$1,788.38	\$81.29	\$1,788.38
	Remove Existing Lighting Cabinet	1	EA	\$1,200.00	\$1,200.00	\$1,181.56	\$1,181.56	\$1,181.56	\$1,181.56
	Install Existing Conduit into New Pull box	1	EA	\$1,000.00	\$1,000.00	\$964.45	\$964.45	\$964.15	\$964.15
	Utility Line Opening (ULO)	4	EA	\$1,200.00	\$4,800.00	\$1,130.62	\$4,522.48	\$1,130.62	\$4,522.48
	Remove Traffic Signals 22 nd Ave & 85 th St	1	EA	\$5,000.00	\$5,000.00	\$4,726.23	\$4,726.23	\$4,726.23	\$4,726.23
	Traffic Signal Cabinet and Controller 22nd Ave & 85th St	1	EA	\$31,000.00	\$31,000.00	\$29,407.36	\$29,407.36	\$29,407.36	\$29,407.36
	Radar Sensor System 22nd Ave & 85th St	1	EA	\$48,000.00	\$48,000.00	\$45,405.20	\$45,405.20	\$45,405.20	\$45,405.20
	Emergency Vehicle Preemption 22 nd Ave & 85 th St	1	LS	\$13,000.00	\$13,000.00	\$11,804.68	\$11,804.68	\$11,804.68	\$11,804.68
SPV.0105.01	Laminated No Parking Signs and Property Owner Notifications	1	LS	\$2,500.00	\$2,500.00	\$1,586.00	\$1,586.00	\$1,000.00	\$1,000.00
SPV.0105.02	Maintenance of Lighting	1	LS	\$4,000.00	\$4,000.00	\$3,576.71	\$3,576.71	\$3,576.71	\$3,576.71
SPV.0165.01	Maintaining Existing Roadway	7280	SF	\$0.01	\$72.80	\$5.01	\$36,472.80	\$5.00	\$36,400.00
		Roadway	Items Subtotal	\$2,293	,704.19	\$2,316,937.41		\$2,587,315.85	
Item Number	Stormwater Items	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
204.0120	Removing Manholes	9	EA	\$600.00	\$5,400.00	\$700.00	\$6,300.00	\$700.00	\$6,300.00
204.0220	Removing Inlets	14	EA	\$300.00	\$4,200.00	\$500.00	\$7,000.00	\$500.00	\$7,000.00
204.0245	Removing Storm Sewer (10-Inch)	480	LF	\$16.00	\$7,680.00	\$24.00	\$11,520.00	\$24.00	\$11,520.00
204.0245	Removing Storm Sewer (12-Inch)	80	LF	\$16.00	\$1,280.00	\$24.00	\$1,920.00	\$24.00	\$1,920.00
204.0245	Removing Storm Sewer (15-Inch)	16	LF	\$50.00	\$800.00	\$24.00	\$384.00	\$24.00	\$384.00
204.0245	Removing Storm Sewer (24-Inch)	8	LF	\$50.00	\$400.00	\$24.00	\$192.00	\$24.00	\$192.00
204.0245	Removing Storm Sewer (30-Inch)	1300	LF	\$26.00	\$33,800.00	\$31.00	\$40,300.00	\$31.00	\$40,300.00
204.0280	Sealing Pipes	2	EA	\$200.00	\$400.00	\$250.00	\$500.00	\$250.00	\$500.00
520.8000	Concrete Collars for Pipe	12	EA	\$300.00	\$3,600.00	\$500.00	\$6,000.00	\$500.00	\$6,000.00
608.0512	Storm Sewer Pipe Reinforced Concrete Class V 12-Inch	692	LF	\$76.00	\$52,592.00	\$68.00	\$47,056.00	\$68.00	\$47,056.00
600 0545	Otama Oassa Bira Bainfara d Oaranta Olasa VAF Irah	156	LF	\$96.00	\$14.976.00	\$115.00	\$17,940.00	\$115.00	\$17,940.00
608.0515	Storm Sewer Pipe Reinforced Concrete Class V 15-Inch	100							
608.0515	Storm Sewer Pipe Reinforced Concrete Class V 15-Inch Storm Sewer Pipe Reinforced Concrete Class V 24-Inch	8	LF	\$190.00	\$1,520.00	\$362.00	\$2,896.00	\$362.00	\$2,896.00
	Storm Sewer Pipe Reinforced Concrete Class V 24-Inch				\$1,520.00	\$362.00 \$220.00	\$2,896.00 \$7,040.00	\$362.00 \$220.00	\$2,896.00 \$7,040.00
608.0524		8	LF	\$190.00	, ,				
608.0524 608.0530	Storm Sewer Pipe Reinforced Concrete Class V 24-Inch Storm Sewer Pipe Reinforced Concrete Class V 30-Inch Storm Sewer Pipe Reinforced Concrete Class V 36-Inch	8 32	LF LF	\$190.00 \$230.00	\$1,520.00 \$7,360.00	\$220.00	\$7,040.00	\$220.00	\$7,040.00
608.0524 608.0530 608.0536 611.0624	Storm Sewer Pipe Reinforced Concrete Class V 24-Inch Storm Sewer Pipe Reinforced Concrete Class V 30-Inch Storm Sewer Pipe Reinforced Concrete Class V 36-Inch Inlet Covers Type H	8 32 1270	LF LF LF	\$190.00 \$230.00 \$230.00 \$900.00	\$1,520.00 \$7,360.00 \$292,100.00	\$220.00 \$249.00	\$7,040.00 \$316,230.00	\$220.00 \$265.00	\$7,040.00 \$336,550.00
608.0524 608.0530 608.0536	Storm Sewer Pipe Reinforced Concrete Class V 24-Inch Storm Sewer Pipe Reinforced Concrete Class V 30-Inch Storm Sewer Pipe Reinforced Concrete Class V 36-Inch Inlet Covers Type H Inlet Covers Type H-S	8 32 1270 7	LF LF LF EA	\$190.00 \$230.00 \$230.00	\$1,520.00 \$7,360.00 \$292,100.00 \$6,300.00	\$220.00 \$249.00 \$980.00	\$7,040.00 \$316,230.00 \$6,860.00 \$11,580.00	\$220.00 \$265.00 \$980.00	\$7,040.00 \$336,550.00 \$6,860.00
608.0524 608.0530 608.0536 611.0624 611.0639 611.2004	Storm Sewer Pipe Reinforced Concrete Class V 24-Inch Storm Sewer Pipe Reinforced Concrete Class V 30-Inch Storm Sewer Pipe Reinforced Concrete Class V 36-Inch Inlet Covers Type H	8 32 1270 7 12	LF LF LF EA	\$190.00 \$230.00 \$230.00 \$900.00 \$900.00 \$3,300.00	\$1,520.00 \$7,360.00 \$292,100.00 \$6,300.00 \$10,800.00	\$220.00 \$249.00 \$980.00 \$965.00 \$3,050.00	\$7,040.00 \$316,230.00 \$6,860.00	\$220.00 \$265.00 \$980.00 \$965.00	\$7,040.00 \$336,550.00 \$6,860.00 \$11,580.00 \$12,200.00
608.0524 608.0530 608.0536 611.0624 611.0639 611.2004 611.2005	Storm Sewer Pipe Reinforced Concrete Class V 24-Inch Storm Sewer Pipe Reinforced Concrete Class V 30-Inch Storm Sewer Pipe Reinforced Concrete Class V 36-Inch Inlet Covers Type H Inlet Covers Type H-S Manholes 4-FT Diameter Manholes 5-FT Diameter	8 32 1270 7 12 4	LF LF LF EA EA	\$190.00 \$230.00 \$230.00 \$900.00 \$900.00 \$3,300.00 \$6,000.00	\$1,520.00 \$7,360.00 \$292,100.00 \$6,300.00 \$10,800.00 \$13,200.00 \$30,000.00	\$220.00 \$249.00 \$980.00 \$965.00 \$3,050.00 \$4,375.00	\$7,040.00 \$316,230.00 \$6,860.00 \$11,580.00 \$12,200.00 \$21,875.00	\$220.00 \$265.00 \$980.00 \$965.00 \$3,050.00	\$7,040.00 \$336,550.00 \$6,860.00 \$11,580.00
608.0524 608.0530 608.0536 611.0624 611.0639 611.2004 611.2005 611.2006	Storm Sewer Pipe Reinforced Concrete Class V 24-Inch Storm Sewer Pipe Reinforced Concrete Class V 30-Inch Storm Sewer Pipe Reinforced Concrete Class V 36-Inch Inlet Covers Type H Inlet Covers Type H-S Manholes 4-FT Diameter Manholes 6-FT Diameter Manholes 6-FT Diameter	8 32 1270 7 12 4 5	LF LF LF EA EA EA	\$190.00 \$230.00 \$230.00 \$900.00 \$900.00 \$3,300.00 \$6,000.00 \$6,400.00	\$1,520.00 \$7,360.00 \$292,100.00 \$6,300.00 \$10,800.00 \$13,200.00	\$220.00 \$249.00 \$980.00 \$965.00 \$3,050.00	\$7,040.00 \$316,230.00 \$6,860.00 \$11,580.00 \$12,200.00	\$220.00 \$265.00 \$980.00 \$965.00 \$3,050.00 \$4,375.00	\$7,040.00 \$336,550.00 \$6,860.00 \$11,580.00 \$12,200.00 \$21,875.00
608.0524 608.0530 608.0536 611.0624 611.2004 611.2005 611.2006 611.3004	Storm Sewer Pipe Reinforced Concrete Class V 24-Inch Storm Sewer Pipe Reinforced Concrete Class V 30-Inch Storm Sewer Pipe Reinforced Concrete Class V 36-Inch Inlet Covers Type H Inlet Covers Type H-S Manholes 4-FT Diameter Manholes 6-FT Diameter Inlets 4-FT Diameter	8 32 1270 7 12 4 5	LF LF LF EA EA EA EA	\$190.00 \$230.00 \$230.00 \$900.00 \$900.00 \$3,300.00 \$6,000.00	\$1,520.00 \$7,360.00 \$292,100.00 \$6,300.00 \$10,800.00 \$13,200.00 \$30,000.00 \$6,400.00	\$220.00 \$249.00 \$980.00 \$965.00 \$3,050.00 \$4,375.00 \$5,100.00	\$7,040.00 \$316,230.00 \$6,860.00 \$11,580.00 \$12,200.00 \$21,875.00 \$5,100.00	\$220.00 \$265.00 \$980.00 \$965.00 \$3,050.00 \$4,375.00 \$5,100.00	\$7,040.00 \$336,550.00 \$6,860.00 \$11,580.00 \$12,200.00 \$21,875.00 \$5,100.00
608.0524 608.0530 608.0536 611.0624 611.0639 611.2004 611.2005 611.2006	Storm Sewer Pipe Reinforced Concrete Class V 24-Inch Storm Sewer Pipe Reinforced Concrete Class V 30-Inch Storm Sewer Pipe Reinforced Concrete Class V 36-Inch Inlet Covers Type H Inlet Covers Type H-S Manholes 4-FT Diameter Manholes 6-FT Diameter Manholes 6-FT Diameter	8 32 1270 7 12 4 5 1	LF LF LF EA EA EA EA EA	\$190.00 \$230.00 \$230.00 \$900.00 \$900.00 \$3,300.00 \$6,000.00 \$6,400.00 \$2,200.00	\$1,520.00 \$7,360.00 \$292,100.00 \$6,300.00 \$10,800.00 \$13,200.00 \$30,000.00 \$6,400.00 \$8,800.00	\$220.00 \$249.00 \$980.00 \$965.00 \$3,050.00 \$4,375.00 \$5,100.00 \$2,650.00	\$7,040.00 \$316,230.00 \$6,860.00 \$11,580.00 \$12,200.00 \$21,875.00 \$5,100.00 \$10,600.00	\$220.00 \$265.00 \$980.00 \$965.00 \$3,050.00 \$4,375.00 \$5,100.00 \$2,650.00	\$7,040.00 \$336,550.00 \$6,860.00 \$11,580.00 \$12,200.00 \$21,875.00 \$5,100.00 \$10,600.00

				A.W. Oakes	& Son, Inc.	LaLonde Co	ntractors, Inc.	Zignego Co	mpany, Inc.
				Racir	ne, WI	Wauke	sha, WI		sha, WI
Item Number	Stormwater Items	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
SPV.0060.06	Adjusting Water Valve Covers	11	EA	\$200.00	\$2,200.00	\$625.00	\$6,875.00	\$625.00	\$6,875.00
	Adjusting Curb Boxes	5	EA	\$200.00	\$1,000.00	\$429.00	\$2,145.00	\$429.00	\$2,145.00
SPV.0060.08	Manhole Cover – Storm	15	EA	\$750.00	\$11,250.00	\$1,350.00	\$20,250.00	\$1,350.00	\$20,250.00
SPV.0060.09	Sump Pump Connection and Cleanout	2	EA	\$600.00	\$1,200.00	\$975.00	\$1,950.00	\$975.00	\$1,950.00
	Storm Sewer Tap	4	EA	\$600.00	\$2,400.00	\$550.00	\$2,200.00	\$550.00	\$2,200.00
SPV.0060.11	Adjusting Sanitary Manholes – Pleasant Prairie	1	EA	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$1,800.00	\$1,800.00
	Manhole Cover – Beehive	1	EA	\$1,000.00	\$1,000.00	\$1,600.00	\$1,600.00	\$1,600.00	\$1,600.00
SPV.0090.01	Sump Pump Connection – Pipe	100	LF	\$40.00	\$4,000.00	\$55.00	\$5,500.00	\$55.00	\$5,500.00
	6-Inch Perforated Underdrain	800	LF	\$20.00	\$16,000.00	\$15.00	\$12,000.00	\$15.00	\$12,000.00
SPV.0090.03	Storm Sewer Pipe – Field Adjustment Due to Conflict	50	LF	\$0.01	\$0.50	\$50.00	\$2,500.00	\$50.00	\$2,500.00
	•	Stormwater	Items Subtotal	\$580,2	258.50	\$640,	673.00	\$663,	371.00
Item Number	Kenosha Water Utility Items	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	12" PVC C-900	865	LF	\$145.00	\$125,425.00	\$155.00	\$134,075.00	\$175.00	\$151,375.00
2	12" Butterfly Valve, MJ	2	EA	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00
3	12" Solid Sleeve, MJ	2	EA	\$700.00	\$1,400.00	\$725.00	\$1,450.00	\$725.00	\$1,450.00
4	12" 45 Degree Bend, MJ	4	EA	\$700.00	\$2,800.00	\$975.00	\$3,900.00	\$975.00	\$3,900.00
5	12" Cap, MJ (Cut & Cap with Thrust Blocking)	2	EA	\$350.00	\$700.00	\$3,100.00	\$6,200.00	\$3,100.00	\$6,200.00
6	Reconnect 2" Service with 2" HDPE (Complete)	3	EA	\$3,000.00	\$9,000.00	\$2,000.00	\$6,000.00	\$2,000.00	\$6,000.00
7	4" PVC C-900	10	LF	\$330.00	\$3,300.00	\$185.00	\$1,850.00	\$185.00	\$1,850.00
8	4" 45 Degree Bend, MJ	2	EA	\$200.00	\$400.00	\$460.00	\$920.00	\$460.00	\$920.00
9	4" Gate Valve, MJ (Hydrant)	1	EA	\$1,600.00	\$1,600.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00
10	12"x4" Anchoring Tee, MJ	1	EA	\$900.00	\$900.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00
11	4" Solid Sleeve, MJ	1	EA	\$200.00	\$200.00	\$500.00	\$500.00	\$500.00	\$500.00
12	4" Cap, MJ (Cut and Cap with Thrust Blocking)	1	EA	\$100.00	\$100.00	\$1,955.00	\$1,955.00	\$1,955.00	\$1,955.00
13	Steamer Hydrant, MJ (Storz Standard)	3	EA	\$7,000.00	\$21,000.00	\$8,125.00	\$24,375.00	\$8,125.00	\$24,375.00
14	12"x6" Anchoring Tee, MJ	3	EA	\$800.00	\$2,400.00	\$1,150.00	\$3,450.00	\$1,150.00	\$3,450.00
15	6" D.I. Pipe, Class 53 (Hydrant Lead) Poly-Encased	62	LF	\$140.00	\$8,680.00	\$165.00	\$10,230.00	\$165.00	\$10,230.00
	6" Gate Valve, MJ (Hydrant)	3	EA	\$1,800.00	\$5,400.00	\$1,750.00	\$5,250.00	\$1,750.00	\$5,250.00
17	6" Cap, MJ (Cut & Cap with Thrust Blocking)	3	EA	\$150.00	\$450.00	\$1,550.00	\$4,650.00	\$1,550.00	\$4,650.00
		Kenosha Water	Utility Subtotal	\$189,	755.00	\$213,405.00		\$230,705.00	
			Total Bid	\$3,063	,717.69	\$3,171	,015.41	\$3,481	,391.85